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TH4 | R6 - 7THRFEMXERILFERNS TF

THXSy « TfE - FER A B & & B A ] ] 7
1H ok B = 1 10, 102, 497
EhdE T = 1 3,134, 708
TA7 7 M2 T 2V 1 135,750 | T /&K% (A - B ER) 17 m2
RC-40 t=300mm ;
b A (HE - BRE ) 17 m2
M-40 t=100mm ;
FE (i - B 17 m2
QMR EET A2/ (20) t=50mm W<1. 4m ;
=)@ (HIE - B ) 17 m2
O RLETA77VMES Y (Br20FH) B4R A t=50
mm W<1.4m ;
TAT 7 %S T = 1 1,015, 808 | T /& A (HE ) 276 m2
RC-40 t=150mm ;
=& (HRIEE) 284 m2
@ EFRLEETA7/ (13) t=40mm W<1. 4m ;
TAT 7 %S T = 1 115,128 | T & s (B2EE) 24 m2
RC-40 t=300mm ;
&8 (HREE) 24 m2
@ EFRLEETA2/ (13) t=40mm W<1. 4m ;
TAT 7 %S T = 1 188,253 | T @i (BAEE) 39 m2
RC-40 t=310mm ;
&8 (HREE) 39 m2
@ EFRLETA2/ (13) t=40mm W<1. 4m ;
TA7 7 M2 T 2V 1 166, 487 | F:JE (H5HE - BIEH) 27 m2
QMR EET A7/ (20) t=50mm W<1. 4m ;
)3 (HIE - B ) 37 m2
@FRLEET A7y GBT20FH) Co B A4 A t=50mm 1. 4m=
W<3.0m;
TAT 7 %S T = 1 1,001,209 | 7&K EE) 106 m2
RC-40 t=60mm ;
&8 (HRIEE) 525 m2
®FF/EERIET A2, (13) t=40mm 1. 4m=W ;
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TAT 7 %S T Y 162,069 |Z)E (HxEE) 89 m2
@®@F EFR A7/ (13) t=40mm 1. 4m=W ;
TAT 7 %S T Y 282,310 | H:JE (HiE ) 70 m2
O/ MR EET A2/ (20) t=60mm 1. 4m=W ;
&8 (HEE) 70 m2
@®@F EFR A7/ (13) t=40mm 1. 4m=W ;
TA7 7 M2 T 2V 67,694 | /KR (BE - BIEER) 10 m2
RIS A M-40 f EVJE 50mm ;
FE (i - B 10 m2
QMR EET A2/ (20) t=50mm W<1. 4m ;
=)@ (HIE - B ) 10 m2
@FRLEET A7 (GBT20FH) B4 A t=50mm W<1. 4m
AT 2V 458, 290
faxa T = 458,290 |f%f 14 m
Fa+ I #1-200-L2000 ;
A 58 m
Fb-150-12000 ;
fxa 7 m
Fb—-200-L2000 ;
fxa 3 m
Fc—20-L1000 ;
X R T 2V 2,339
X R T 2V 2,339 | R X R 4 m
ARIECEE) 358 15cm JE1. 5mm ek PE gL
B s
A A bR R 4 m
A A KR SERR 15em HE
FEE YR T 2V 1, 467, 160
MU L T ES 882,642 |27~ MU L 3T m3
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il i 6 1 e
TAT7 W MEZE IR t=15cm ;
il i B 1 e
2y))-Mili%ERR t=15cm ;
ElEERR I e 840 m2
TAT7 W MERZE IR t=15cm ;
LiE IR 250 m2
2y )-Mli%ERR t=15cm ;
AL T =, 1 584,518 |k 40 m3
TAT7IVhER
R 37 m3
) -hik (&5
R 25 m3
) -hik (85
ELALLS 40 m3
TATTIVhER ;
ELAILLS 37 m3
) -hik (&5
ELAILLS 25 m3
a0 -hik (B5)
iz T = 1 5, 040, 000
BT = 1 5,040, 000 | Z3 A FHE B 1 =
TR [FE = 1 34, 307, 448
1 = 1 2,480, 416
8 () T eV 1 2,076, 610 | AR ML (AEARIE [F178) 1 e
O t=5mm ;
DI JEk L 1 =«
8 () T eV 1 403, 806 | 188 LA M (AR I [R18E) 1 e
O t=5mm ;
)7 - JEE L 1 2
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B NERE
T4 6 - 7R FHX BRI EES TF
THXSy « TfE - FER A B & & B # a1l ) 7
BRHI 1T Y 1 3, 950, 197
PEHI T Y 1 2,033, 000 | BH 4 1 1 =
L4
HRLT Y 1 1,658,250 |HEEEL - kiildE o 1 =
L4
e T = 1 258, 947 | E&Hh 1 =
=AM ToH
R S 1 =
EAR LA L 2V 1 27, 876, 835
BT (B 7 1 9,336,728 | HEFRE K 113 m
PV ¢ 50 ;
PR A 20 m
PV % 10R ¢ 50 ;
PR A 138 m
PV 75 ;
PR A 24 m
PV H% 10R ¢ 75 ;
PR A 46 m
VP& ¢ 100 ;
AR I 8 m
VP& % 10R ¢ 100 ;
PR A 168 m
HHFAE VPE ¢ 150 ;
"“”Wl 34 m
H:FHFA% VP EBHEE 10R ¢ 150 ;
R ré:f'tﬁ 5 A
LHFAE VPE 0 L DHEF ¢ 150 0. 25m/ K
W 156 m
K7 VPR ¢ 200 ;
TR A 40 m
574 VPE i 10R ¢ 200 ;
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THE4 6 - 7RI X EAR I EIES T
THX5y - T - fljl Bz ¥ = & F # pilll &) 7

AR 4 P
B 7 VP r-iAE RS 6200 1. 2m/A

ﬂﬁ%&??ﬂi 4
B 7 VP n-iaE KR 6200 1.0 14m/ AR

ﬁﬂﬂm”gﬂk 4 A
87 4E VPE AN E 6200 0.62m/ A

SRR I 208 n

FIFEP ¢ 50 ;

R 116 n
FFIFEP ¢ 75 ;

R A5 1K 209 n
FRIFEP ¢ 100 ;

SR 18 m
SU  ¢30 1. Im/AK ;

SR 393 n
SU% 30 bm/A ;

SR 53 n
SU%  ¢50 1. Im/A& ;

SR 1,179 n
SU% ¢ 50 Bm/A ;

VAVAVIETM 20 1
PV 50 ;

VAVAVIETM 24 1
PVE 75 ;

VAVAVIETM 8 1
VP& 6100 ;

VAVAVIETM 10 1
VP& 150 ;

VAVAVIETM 8 1
VP& 6200 ;

VYN e 7 12 1
BIIFEP ¢ 50 1200 ;

VAN XS 20 1
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TH4 | R6 - 7THRFEMXERILFERNS TF

THERXSy « LFE - fEmH A B & & # 1l ) 7

BIIFEP ¢ 75 1200 ;

EVZARNE 2473 8 &
FAIFEP ¢ 100 1200 ;

17Kk #e 20 ]
PV ¢ 50 ;

17Kk #e 24 ]
PV 75 ;

1E7KHE 8 1l
VP& ¢ 100 ;

17Kk #e 10 ]
VP& ¢ 150 ;

17Kk #e 16 ]
SU& ¢ 30 ;

17Kk #e 48 ]
SU& ¢ 50 ;

1E7KHE 8 1l
FIFEP ¢ 50 ;

17Kk #e 16 ]
IFEP ¢ 75 ;

1E7KHE 8 1l
FAIFEP ¢ 100 ;

A 104 &l
B 6150 ;

A 168 &l
B E 6200 ;

A 2,878 m
WEHR PPe-7

HERFRRY-b 262 m
W=400 ¥t & 2f%E ;

B T (R B ER) = 1 3,679, 549 |HIZRE K 230 m

4 RIFEP ¢ 100 ;

PR A 536 m
RIFEP ¢ 130 ;

AN U 14 &
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Vo =
HE R E
T=HE4L | R6 - 7RSI ERILERES TF
THXSy « TfE - FER A B & & B # ] ) 7
FAIFEP ¢ 100 1200 ;
ENZARNE Ied7)d 38 &
fBMIFEP ¢ 130 1200 ;
17Kk 14 &
FAIFEP ¢ 100 ;
17Kk 38 &
fIIFEP ¢ 130 ;
r=7" VG RE 6 A
PN 776 m
wIR aysa-h
HERFRRY-b 227 m
W=400 ¥t &l 2fEf ;
BT (IR = 1 3,654,375 | BRI 187 m
4 RIFEP ¢ 100 ;
ENZARNE Ied7)d 13 &
FAIFEP ¢ 100 L150 ;
ENZARNE Ied7)d 11 &
fBIIFEP ¢ 100 1200 ;
17Kk 11 &
4 RIFEP ¢ 100 ;
PN 191 m
W% aysa-b
S sz A 6 4%
CCBX-BM 400X 500X 1000 ;
&5 N7 1 pre
CCBX-KT 400X 500X 2000 ;
PR A S 500 m
RIFEP ¢ 100 ;
R T (D) ® 1 748,183 | ARG HS 2 m
FEP ¢ 50 ;
PR A 11 m
FEP ¢ 65 ;
INS AUV 2 i
FEP 65 ;
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TH4 | R6 - 7THRFEMXERILFERNS TF

TEHEXSy - TfE - fER Bz ¥ = & Hm i N 7
17Kk 2 &
FEP ¢ 65 ;
R 14 m
WER PPr-7"
VAN 3 S
B600 X H600 X 1600 ;
7" VRRANE 972 T CREREED) = 1 10, 458, 000 | 7" VA 974 1 J
CCBX-BK1-17 (FL3%) #578 ;
7 VERAME 9 A 2 S
CCBX-BK1-17 (f43%) #578 ;
7 VERAME 9 A 1 S
CCBX-BK1-27! (f43%) #4578 ;
7 VERAME 9 A 1 S
CCBX-NT2-17%4 (FL3%) #578 ;
7 VERAME 9 A 2 S
CCBX-TT-17# (A #%) ik ;
7 VERAME 9 A 1 S
CCBX-TT-3% (A #%) il ;
EE TR Y 1 44, 409, 945
Bt = 1 6, 103, 580
Bt = 1 770, 580
TR 2V 1 196, 400 | {RE%bF S LY 1 2V
Bt E g 2V 1 63, 180 | & B Ek FaAT -4 ERE H 1 =
BIGRIEUER (FE L) Y 1 511, 000
Il (it L) Y 1 5, 333, 000
T =Y 1 50, 513, 525
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RN E
TH4 | R6 - 7TREHXKERLFREN TF
THXSy - TH - fly HOfr ¥ & & fH # bl N g
B E R v 1 24, 948, 000
TRl v 1 104, 854, 575
—fRE R % X 1 17, 395, 425
T fifik& v 1 122, 250, 000
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U i i X AR 3 i X

P oxin =
BAENRE
THE4 | R6 - 7HRFEHMXERILEEN TF [HEHHX]
THRX Sy « Lff - fi5 Bz ¥ = & i a1l % 7
B K& Y 1 17, 194, 050
AAE T = 1 13, 760, 200
SLEFTHAZ T Y 1 13, 760, 200 | |-JE A% 2,000 m2
M-25 t=60mm ;
- JE g 2,000 m2
OFETAT 7V 22 EALEE (25) t=60mm ;
g 2,000 m2
QMR EET A2/ (20) t=50mm 3. Om<W ;
eI 2,000 m2
Ok FEAs CHT20FH) S8 M A t=50mm 3. Om<W ;
HiEYME T = 1 2,833, 000
g i L T Y 1 1,973, 000 | &SR0k 1 =
TAT7VMEEERR 15em<t = 30cm ;
ELE IR A A 2,000 m2
TAT7 VMR 15em<t =40cm ;
TER L T = 1 860, 000 | XiEH 200 m3
TAT7V AR
BTy 200 m3
TAT7V AR
X T = 1 61, 050
X R T = 1 61, 050 | VAR X HT R 100 m
W FE) FE15cm  JEL bmmyEKRMEE
oG
A b RXE R 100 m
AN b BERIE FERIbem  HIAR
FGan Y 1 539, 800
BB T = 1 539, 800 | A2 E i B 1 2V
[# ]
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THE4 | R6 - 7HRFEHMXERILEEN TF [HEHHX]

THXSy - TR - fER VA " & & H A il 2 7
B T v 1 17, 194, 050
B Y = 1 3, 400, 000
IBEER T (K5 1) = 1 3, 400, 000
M A = 1 20, 594, 050
B E R v 1 8, 799, 000
TR = 1 29, 393, 050
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